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SA: RIRKIE D
HH: T2HFA . A (2ELXNGMS/XNAL Al
ool X zel (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
202 04 d| 3,413 1,500 1,913
= 413
Al 3,000
01 2L Y] 3,413 1,500 1,913
OEXOOl= 2 3,413
= 413
Al 3,000
207 A OH ] 22,000 22,000 0
01 A2 E&49Y| 22,000 22,000 0
OXNESAN AASH 22,000
—XNESEHZ2UE 6,600& *1,95624 12,910
—HEEFE 2,000& x552H4 1,104
—EXOSXZ2AAM 6602 *12, 1000H 7,986
INESPUEYNPN =& 848,300 1,622,020 NTT73,720
201 Bt A | 46,300 19,120 27,180
01 At 22l bl 44,120 19,120 25,000
Ogst2H| 11,600
—XNEHEAL S 223 1,600
-~ XHINT ABEI}44E
5,000, 0003 20 & Q1 10,000
osgay 2,520
~BRENSEAE 22
70,000& x6H x23] 840
— KNNEHEAMASE =C 70,000 *6H *23| 840
—dAHZ2EHARYSY = 70,000& x6H x23] 840
OHNMAHESXH XESS JE=E S|
75,000& 4008 30,000
02 332 H| 2,180 0 2,180
Os32g9H| 2,180
—NETHEAN SIRE 22
2,180& x200Y 53| 2,180
202 04| 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OXEEMEA 2F& 2,000
301 et M= 800,000 1,500,000 700,000
12 JIEtE &2 800,000 1,500,000 A700,000
OXNEMEA ZEZ2(4MKRF) 800,000
NEMEZA SSH K& 132,661 51,000 81,661
= 132,661
201 et A H| 132,661 51,000 81,661
= 132,661
01 At 2t2l ] 132,661 51,000 81,661
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= 79,700
Al 143,320
S A X Jt2tel 223,020 246,153 A 23,133
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Al 60,000
01 Al&H| 80,000 78,000 2,000
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202 o4 | 3,000 3,000 0
01 2L I 3,000 3,000 0
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308 XHXIGHH SO0l & 28,688 25,729 2,959
10 B 2SO USE AN EAISH 28,688 25,729 2,959
O2INTAHB A A (KAIS) SRI22] 16,460
OE2YHFA JIE: S8 12,228
SsasESY 5,400 32,400 A27,000
201 LBt 9H]| 2,900 2,900 0
01 AP 22| H| 2,900 2,900 0
Ogbt4=24| 2,900
— ESAHAAMNDES ARE
200,000 x12& 2,400
— S48 & 50,000& 104 500
301 LBt A= 2,500 2,500 0
12 JIEtE A2 2,500 2,500 0
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JlE&l 123,016 125,276 A2,260

201 LB-2d| 36,456 36,336 120

01 At 2t 2l 36,456 36,336 120
ORM2g JI23tl 36,456

202 oddl 81,760 84,140 A 2,380

01 SLHOYI 81,760 84,140 A 2,380
O= 0l 81,760

203 YR =&l 4,800 4,800 0

04 RENSELRF=LH 4,800 4,800 0
ORN2Y 2=l 4,800
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802 BtEt= DI EF 2,500 2,000 500

01 =2n2x3eeE= 500 0 500
02019 X ETH = ALALY Ol X2 300
02019 NE S AKX IFEALALSY Ol RH2 200

03 JIEtEtEt 3 S 2,000 2,000 0
ONg=Rga RIS &2 1,000,000& 2A 2,000




